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QUESTION 1

As engineer notices that TMS Conference Control Center is not displaying the interface on a scheduler\\'s computer, but
it operates properly on the administrator\\'s computer. Which cause is the most likely?

A. Java must be properly updated and configured on the scheduler\\'s computer.
B. NET or IS is not set upon the scheduler\\'s computer.

C. The server domain of the scheduler\\'s computer must be properly configured.
D. The network has a port blockage.

Correct Answer: A

QUESTION 2

For Business to Business calls, which option must be configured on an Expressway Edge to route calls to an unknown
domain?

A. SIP trunk to a public DNS server

B. traversal zone to a public DNS address
C. DNS zone and a public DNS address
D. neighbor zone to the other business

Correct Answer: C

QUESTION 3

Which description of the role of the conference alias in the Cisco Conductor is true?

A. It determines the bridge pool to be selected for a conference.

B. The conference template determines the bridge pool to be selected for a conference.

C. Itis dialed by a user and Conductor uses that alias to determine the conference template.
D. It selects the Expressway to be used for media traversal.

Correct Answer: C

QUESTION 4
What is the maximum network latency allowed between peers in a cluster?

A. 30 ms total
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B. 300 ms total
C. 100 ms one way
D. 150 ms one-way

Correct Answer: A

QUESTION 5

An engineer wants to schedule endpoints that are registered to the Cisco UCM to conferences using TMS. Which action
is required before endpoints can be scheduled?

A. The Cisco UCM must have a SIP trunk directed at TMS.

B. Only endpoints registered to VCS or Expressway can be scheduled in conferences by TMS.
C. The Cisco UCM must first be added to a folder in TMS Systems > Navigator.

D. The MAC address of the endpoint must be entered in the System > Manage Dial Plan menu.

Correct Answer: C
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